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1. I w3 oeeh ¥ -

(1) FFpe I (2) i
(3) wEry FEE (4) TITEER
Blue revolution refers to
(1)  Poultry (2) Agriculture
(3) Food Processing (4)  Fisheries
2w A g A A E -
Area under dry land’ agriculture in India is
(H  70% 2y 60%
{3) 30% _ 4y 40%
3. e e R v ® -
(1y ¢ (2) R
(3) HE (4) T
First man made cercal is .
(1) Wheat (2) Triticale
(3) Rie (4) Bajra
a. &K BY W F FIE F N ¥ WEFRT ¥ I0N IO H A 8 -
(1) wEtE F99 (2) Q-FENE FTAW
(3) e #aE (4) AA-FIESIEES w9
The cotton developed by transfer of Bt gene in cotton plant is known as-
(1)  Organic Cotton (2) Inorganmic Cotton
(3) Transgenic Cotton (4) Non-transgenic Cotton

5. 49 Fiw F T ¥ -

(1) @7 q (2) e@wE ®
(3) wHar ® (4) fxew ®
Yellow revolution is associated with .

(1) Milk : (2) Pulscs
(3) Cereals (4) Oil Seeds

6. WRd H TI ¥ way R N I Y5 99w a9 ¢ -

The most deficient micro-nutrient in Indian soil is

(1) Zn. {2) Fe
3y Mn (4) N,
7. wEW W g B gea @ ¥ -
() | @)
(3) TR (4) am
*Striga’ is associated with crop
(1) Wheat (2) Pulscs
(3) Sorghum (4) Mango
g. P ¥ § Pwd 4mm @ oW R@ww & 30 fRm oo RN % -
() T e (2) W
(3) == (4) <EGS
Which of the following parameters can be measured through dispersion-
(1)  Standard Deviation (2) Range '
(3) Mecan {4) Mode
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9. FW VNG F TR T B AT o ¥ -
() wdm F orgdam aRwe (W.%.91.9.)
2) T gE omEm
()  FW agdaw wn Rew fam (Hoemi)
(4) wEm w R HEE (TRl
Support price for agricultural commodities are announced by
(I} Indian Council of Agricultural Research (ICAR)
(2)  Agricultural Price Commission
(3) Department of Agricultural Research & Education (DARE)
(4)  Food & Agricultural Organization (FAQ)

10. ¥ ST G qEtE & i & emar 9t & § BN g gomd a8 -
(1) R iy (2) orfdeRr Y
(3) M@ (4) Ty
Which of the following is not a farming system on the basis of land use and
cultural practices classification

(1) Specialized farming - (2) Tenant farming
(3) Mixed farming - (4)  Diversified farming
11, 99 & U R § OTIRRTOT R S § A1 9 A1 aR /K a1 e §-
(1) fewwoT (2) omwHE HET
(3) BER T @) fe= em wm Heor
When two single crasscs are crossed, the resulting hybrid is known as-
(1) Double Cross _ (2) Top Cross
(3} Three way Cross {4) Double Top Cross
12. R el W wEwRm swEm e owgal § Rer omr oar -
() =~ (2)
(3) =R 4y 99
Hybrid varietics were first commercially exploited in
(I) Bajra (2) Maize
(3} Sorghum (4) Cotton
13. 9 & I 9 B R R e B ower ¥ @ ey ¥ -
(1) =T U=y 2y @Y U=y
(3) T TR @) Ry e
The plant part to be cultured in vitro is known as
{1} Zygotic plant (2) Mimature plant
(3  Explant (4) Infant plant
4. 96 B &0 I9e fedl Ry @ omPwe @ 91 o@Ed § -
() w5 9w (2) -wRE 9
(3) miftE (4) dfgm @
The 1nitial seed of a variety produced by the breeder is known as-
(1) Breeder's seed - (2)  Nuclens seed
(3) Certified secd (4) Registered seed
15. Al 9 s fRw oo B -
(1) ~F% aw 4 | (2) =g @ |
(3) ueigm @ J (4) oM €= §
Certified secd is produced from
(1)  Breeder's seced (2} Nuclens seed
(3) Recgistered seed (4)  Foundation seed
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16, T § Sorl GaW RN & -

(1y @9 goad (2) Towa gEeE
(}) Fom g (4) Fow gwm w R gEi
The progeny of a scif pollisated plant is
(1) Hamozvgous (2) Heterozygons
(3) Hetemogeneous (4)  Heterozygous & Heterogeneous
17. @ W 47 w9 WA RRar e -
(1) g=e (2) afems
(3) T=d (4) Wt
The term heterosis was first used by-
{1} Punnect (2} Batison
{3y Mandel _ (4)  Shuil
18, fow BEEM B o oW AW & wed B - _
' (1) aFEEwar wes (2) =g
(3) e _ (4)  ieERET
Development of fruit without fertitization 1s called
(1)  Parthenogencsis (2) Polyembrovne
(3)  Apomixis (4) Budding
19, FHomu § oobEE oUW #wa 8 - '
(1} TEE _ () & IiwEhvEEs
(3) S 4y wFEerd
The sugar present in DNA is called
(I} Ribosc (2} Deoxyribose
(3) Maltose (4) Fructose
0. WA oF oW TE ¥ oW g S ogwRe w3, I FE B -
(1) =gEE (2) dEEar :
(3) aREiE (4) @I FHU
When single genc is affecting more than one character, it is known as-
(1) Pleiotropy {2) Penetrance
(3}  Polymorphism : (4) Phenocopy

21, -5 @¥T e R ORrE ovEa @l -

() =R 2) T
3y =™ (4) TR
Ganga 3 is a hybrd of
(1)  Sorghum (2) Wheat
(3) Cotton (4)  Maize
22. U @ sEE PT W ] € -

(1) =gl () wEa S
(3) &= (4) B
A character governed by onc gene is called
(1) Polvgenic (2) Monogenic
(3) Digenic (4)  Trigenic

93, i umEae # oaedRE Wd # SR g ¥ -
(1) U /1 - 10 T (2) W # 45 TWH
(3) TR ¥ 25 wWuH (4) TW " 15 - 20 THUH
The oxidized zone of puddle paddy is having a thickness of
(1 Top !l - 10 mm (2) Top 45> mm
3) Top 25 mm 4y Top 15 - 20 mm
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24, % FRW § UEd H PE F W W wWh F R Few W # o &
The area required for DAPOG nursery for sowing 1 bectare rics 13
() 30 m? 2y 30 m- :
(3 100 m? (4) 10m?

25. R 9@ W 9w W (HmmARETW) 8-
The sced rate (kg/ha) of hybnd rice is

{1y 25 kp/ha (2) 3 kg/ha
(3) 45 kg/ha 4) (5 kg/ha
26. T @ FaE H AR § W A ¥ -
(1) =E & ' (2) ¥ w g By
(3) =AW Tl ¥ gomE (4) Wy Ry
Simplest and common method of sugarcane planting is
(1Y  Trench method , (2) Ridge & furrow method
(3) Planting n flat beds (4) Rayungans method

27. U B T % RA TEE I9gR 9§ -
(1) agé ' ) IRgE dme

(3) R ame 4) IR @ A ame
Best suited soils for groundnut cultivation is

(1) Sandv (2)  Sandy loam

(3) Clay loam (4)  Sandy and clay loam

28. Mg # ah Rl @ gond A mwewd ¥ -

The sowing depth of dwarf wheat varieties is

(1) 6 -7cm (2) 2-3cm
(3) 4-5cm 4y 5-6cm
29. ARG #H P ferd wEa @ -
(1) T (2) fea
(3) o _ (4) T IR wYar
Which crop is constdered as major oil sced crop in India
(1) Groundnut "(2) Sesame
(3) Castor (4) Rage seed & mustard
30. 98 oW AW EEErt # T Y P WY wen ou9gE aeeEl ¥ -
() e () P
(3) 24D . (4) omEm
Most commonly uscd herbicide to kill broad leaf weeds in wheat ficld is-
{1}  Alachlor (2) Atrazip
(3) 2-4-D © . (4) Isoproturon

3. Yl HOGER wh fawmwm & A wm # smvwer § -
Gypsum application required for the development of better pods in groundnur is
(1) 230 kg/ha (2) 300 kg/ha
(3) 300 kg/ha (4) 1000 kg/ha

2. queel H oforiE oel fRea oeud 3 W Smt ¥ -

The pop in groundnut is duc to deficiency of

N Ca 2) N
(3) P 4 KX
3B XY A @A ST 9 Ak el %Ed 8 -
(1) ore (2) mex
(3} =gy _ (4) ==
Most commonty and widely cuitivated pulse crop in India is-
(1) Redgram (2) Pea
(3) Lentil (4) Chickpea
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3. wEd W O R 4 wW R @ @ T E -

For kabuli gram inter row spacing 1S

(1) 30cm (2) 7> com
3y 45 cm 4y 90 em
35. W H GO W OPA P F -
(1) w0 & (2) woE @
(3) g @ {(4) @w G
Major pest of gram 1s
{1) Pod borer ' {2) White grub
(3) Cut worm (4)  Stem borer
3. wREl F FEE SR FY T TF § -
(1) e (2) T
(3} X W (4) Ao wdw
The highest production of mustard is contributed by the state
(1) Gujarat (2)  Rajasthan
(3) Uttar Pradesh (4) Madhva Pradesh
37. wEr REE wel g9 SUgR - '
(1) wz-uEy 9% B RF (2) wim 9 3 R
(3)’%3@[%%’3{ (4) o 9 3 fd
The sprinkler system of irrigation is most suitable for
(1)  Undwelted soils (2) Saline soils
(3) Clay soils (4) Acidic soils
. ToEE 4 ghe Ay ¥ wEits & ool wEw ¥ -
{1) =™ ( 2) T
(3) = (4) =R
In Rajasthan highest area of crop in kharif season is covered under-
(1) Cotton (2) Mawze
(3) Bajra {(4) Sorghum
39. aﬁmf&@rwﬁa\%—ﬁ?ﬁﬂm%wnwﬁmaﬂﬁro,aﬁ%—
(1) S (2) ws%
(3) <Een (4) omEX
The crop which is used both as pulse and oil seed crop
(1) Soyabean (2) Blackgram
. (3) Cowpea (4)  Arhar
40, TR Y g ot iy fmr @@ @R B -
(1) = o+ wE {7 o+ R
(3) &wil + W (4) e+
In Rajasthan most common mixed cropping is
(1) Gram + Mustard (2}  Mustard + Wheat
(3) Mustard + Barley . () Groundnut + Til
41. iR 9 @ aw G § -
(1) = (2) &
(3) 2= (4) ITEm
The best grecn manuring crop is
(1)  Guar {2} Sunhemp
(3) Dhaincha (4) Berseem
42. 9 B ¥ I o FW awH F Em s & FEd ¥ -
(1)  =wmn fog &0 (2) o &R
(3) Tkl afd (4) orfehe ek
The injury caused by the relatively low temperature above the freezing point is called-
(1) Freezing injury (2)  Mechanical injury
(3) Dechydration injury (4) Chilling injury
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43. T P ITACE GRIRE U UEE RT B O B Hed § -

(1) TR SR (2) T e

(3) TN TEFEH (4) CoEERT gEwE
Inherant capacity of soil to supply nutrients in balanced form is called
(1) Seil productivity {(2)  Soil fertility

(3) Fertility index (4) Productivity index

44. orml WS @/ MW H G- F TEE B A A ¥ -
Well rotted FYM contain N

Y 05% 2) 1.0%
3 15% 4y 2.0%.
45. 'Mg' ol 'S' @ Wy ¥ - _
(1) wgE 9w T (2) W 9w g
(3) ot gE dws T (4) f<ires G aw
'Mg' and 'S' are termed as
(1) Primary nutrients (2) Micronutrient
(3) Ultra-micronutrient - (4)  Secondary nutrient
4. =@ I Pfim Fw ¥ - _
(1) o 9% 3 So9 A (2) dfw s @ dow &
(3) Wy o A gy & (4f dWa % a@ @ T B T W
Chlorosis refers to : '
(1) Buming of leaf tissue (2) Yellowing of leaf tissue
(3) Death of leaf tissue (4)  Development of reddish brown colour on leaf
47. B g @ ofe ol swm AR RO
(1) g T # (2)  forrdl g @
(3) = agd @@ (4) Qv ma H
Which of the soil has higher buffering capacity
(1) Sandy soils } (2)  Clovy soils
~ (3) Loamyv sand soils (4) Loamy soils
4. REE & o @ aim BN W o wma A S & aEn -
(1) (2) =
(3) meo _ (4) 7 |
Under high solice irrigation water we will prefer to grow-
(1) .Barlev (2)  Gram
(3) Pea (4)  Wheat
49. waw F U VT FEA s ¥ Bar ¥ -
(1) f= (2) e
(3) {4) e
Khaira diseasc of rice is due to deficiency of
(1) Zinc (2) Iron
(3} Nitrogen {4) Caleium
50. wl § SRl WM W qE o & -
(1) ;= (2) T
(3) e . (4) @W!élﬂ
Very important constitutent in fruits for preparing jelly is
(1) Sugar (2) Vitamin
(3)  Pecctin (4) Cellulose
51. Wl & Wi X ofmew At 9 dew Bw Rf & v om wmh ¥ -
(1) EBrpmer Ry (2) st iy
(3) omamR ffy (4) TR Rfy
Maximum number of fruit plants can be planted in the orchard by the system-
(1) Tringular system (2) Hexagonal system
(3)  Rectangular system (4) Square system
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52.

53.

54.

55.

56.

58.

59.

60.

61.

g AR § oS aEr g e 6 -

(1) = (2} W wE (3) TeEmd (4)  HFgERT
Which flower can be grown m all seasons ’

(1) Marigold (2) Com flower

(3)  Chrysanthemum {4) Candituft

o @ waash B -

(1) e (2) T W (3) @ (4) =
Which of the following is the fruit vegetable

(1) Potato (2)  Sweet potato (3) Tomato (4)  Spintech

P § A ofs v W Y - |
(1) wddmEfm (2)  wRAEE ord (3) oo (4) Pl
Which is not a growth promoier

(1)  Cytokinins (2} Abscissic acid (3}  Auxins {4) Gibbercllhins

g A v g e A W F -

(1) = (2)  @am (3) o (4 =
Which is not fruit of anid climatic conditions

(1) Date plam (2) Banana {3) Pomegranate (4) Ber
G HOWERT BRT 8 - '
(1 @9 9 (2} ww= W

(3) e & o (4 s wml @

Date palm should be propagated by

(1) Sceds (2) Rhizomes

(3) Budding (4)  Suckers

T oo @ B A W Il oeREE AR F ool ¥ -

(1) F=-F& Tala (2)  wEh s

(3)  ormEs wEk {(4) =@ wsl

Most cconomic method of irrigation if orchard under water scarcity conditions 1s
(1) Drip svstem (2)  Sprinkler system

(3} Flood system (4}  Ring svstom

I ¥ Al W@ OFRW F - '

(1)  STrausHer (2) 3o T B

(3) =R (4  wrEr & @A
Seedlessness in grapes is due to

(1)  Parthenocarpy (2}  Embrvo abortion

(3) Polvplady {4}  Lack of pollination

W - 16 ¥ - _

(1) @ T # {(2) o&U TR

(3) o # (4) T H

Snowfall 16 is a varicty of

(1} Cauliflower (2) Cabbage

(3) Poiato {4) Tomato

arE F W Uk Ak ge G ¥ -

(1) e (2) == {(3) =g (4) @
The main host tree for the cultivation of iac insect is :

(1) Palas (2)  Khen {3} Babul (4) Pipal
T @ Ny FosaRm B -

(1) e A (2) aie

3 wEE (4) = d9g

Loose smut of wheat is a diseasc

(1) Internally seed borne {2}  Air borne .

(3) Soil bomne (4) Extcrally seed borne
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62.

63.

65.

67.

68,

69.

e 4 s A ¥ -

(1) fig & (2) <y & (3 ww & (4 +% R
Powdery mildew disease is caused by .

)] Vl_rus (2) Bacterium {3) Nemasode (4) Fungus
I A OB AT W OAEEE G e 8 - _

(1) @53 g (2 & (3 #: (4 =
Primary source of infection to green ear disease of Bajra is

(1)  Sced & Soti  (2) Air (3) Insect {(4) Soail
THRY F G Fged AT W OFRT § -

(1) Fremg (2) iy

(3 == ' (4) R

Tomato icaf curl is caused by

(1) Virus (2) Bacteria

(3) Fungus (4) Mycoplasma

TR T & R §698 SR & -

(1) &2 : (2) =W - S - 78

(3) ¥R (4 3w

Most effective fungicide against powdery mildew disease is

(1} Captan (2) Dithan-Z-78

(3) Bavistin (4) Karathane

TR ® FPR A AT BT AR B Wit ww T ¥ -

(1) P—ql!@ia ' (2) g .

(3) ToRT IUERERT (4) 9=

Which one of the following 1s not a physical factor affecting the type of farming-
(1) Topography (2) Ciimate

(3) Labour supply “4) Soil

T ¥ BN BN eEm @ oam w6 ® -

(1) g : (2) RS

(3) (4) s

Which one of the following is not component of farm business

(1) Capital (2) . Environment

(3) Land (4) Management

g fee @ TR B e ¥ - _

(1) & # arE (2} == A arw

(3) voRE # arm (4) == @ra

Cost calculated per quintal is known as

(1) Cost of farming (2} Cost of cultivation

(3)  Cost of production (4) Total cost

B fem F= B 100% e P ¥ -

(1) v=9 @R F ‘

(2) el F¥ orgEem ofw (wg.erg.) @

(3) Felemm oEE omm (g.oh) @

(4) 3o wr ofeifs orfEm uiwe (W .uwem.aR.) @
The Krishi Vigyan Kendra's (KVK's) are 100% funded by
(1)  State Government .

(2)  Indian Council of Agriculture Research (ICAR)

(3)  University Grant Commission (UGC)

{4)  Council of Scientific & Industrial Research {CSIR)
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70.

71.

72.

73.

74.

75.

76.

77.

9 1 Rt Riftre srrg & Rl e e @ e w9 @ ford ol s e d -
(1) g Q) W

(3) - wetw {(4) T

The effective extension method to improves farmers about a particular reconumended
practice for a specific arca is

(1) Television (2) Radio

(3) Demonstration (4) Pamphlates

T § BN amRw R A RR o B -

(1) =B (2) UEE R

(3) & @ T WU (4) & w

Which of the following is not a method of group communication
(1) Conference . (2) National Demonstration
(3) Farm & home visits (4) Field trips

Al B OME-TeM T JERA B B - _

(1) =y & (2) elifrr senidl |

(3) TEREn sofEr @ (4) ofedrn sefedl | ‘
Damping off disease of scedlings is mainly caused by the species of
(I Mucor (2) Puccinia

(3) Pythium (4) Ustilago

3T 1 93T S IeT (FEwr Im) SEW O3 - _
(1) WEEME e &0 (2) et AR

(3) oFEstE @Rl g (4) FIREEERT BPed BN

Late blight of potato ts caused by

(1)  Phytopthora infestans {2)  Sclerospora graminis
" (3) Alternaria solanii (4)  Coletotrichum falcatum

¥ w1 W% me U7 TR -

(1) =& @y () SEPpEl

(3) Pl ERT (4) fooopat am

Root knot disease of brinjal is caused by

(1) Fungt {2) Bacteria

(3) Nematodes {(4) Viruses

frafofeg & @ oW W aqq @ TEH I § -

(1) = (2) g (3) R (4) TREH
Which one of the following elements ts a micronutrient :
(1) Boron (2) Nitrogen (3) Phosphorus (4) Magnisium

SR ol W oA ofE W a9 RBed § 9T BH dnar 9 RN # el
uhF AgORTTY el a HueW wedRr ¥ -

(1) faEE (2) TETT

(3)  aimSor (4)  aATEERE
Movement of water molecular from a solution with their higher concentration towards
their lower concentration solution through a semi-penmeable membrane is known as

(1) Diffusion (2) Osmosis

(3) Imbibition (4) Transpiration

frefafe # § BN W OORG OTQS U W OJEE § -

(1) UEET e 2) HuRE AR

(3) (9 HeRaEd _ (4) . ot s

Which onc of the followings plants is an example of incomplete dominance-
(1) Pisum sativum (2} Lathyrus odoratus

(3) Raphanus sativus (4) Mirabilis jalapa
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fiee (TR) T ¥ T FO W AR DT T -

78.
() 20 B g 02 MW P Ay
(2) 0.2 B | 002 fysd 3
(3) 0.2 . ¥ 0.002 MR F wy
(4) o0.002 Bt & 0.0002 firAdl. F mey
Soil particle size of silt soil ranges between
{1) 2.0mmto 0.2 mm
{2) 0.2mmto 0,02 mm
3) 0.02 mmto 0.002 mm
(4}  0.002 mm to 0.0002 mm
79. @@ g & pH @1 & ~
pH of saline soils is :
(1) 835 (2) 95 (3) 105 - 4)
80. W& yar F ofiF IgAEG T W HHW B -
(1) aIRA e (2) Ry Bt
(3) wienE e (@) ofrm e
Sodic soils can be made more productive by adding
(1) Boron (2) Calcium
(3) Phosphorus 4) Sodium
81. fmwr & Y s & & wunomw B @ 99 Fw o ¥ -
(1) omge 5@ (2) omREN T f&x
(3) eI FTRES (4) omERT
Which one of following is commonly used for naval disinfection
(1) Distilled water (2) Tincture of Todine
(3)  Sodium chioride {4) Iodex
82. MW W FEI IW FEN T FaT WA ¥ -
(1) = g9 Q) TN 3 (3) wEH 4)
First milk after the parturition of cow is- called
(1) Toned milk (2) Butter milk (3) Colostrum (4)
83. Fpafifad § @ Far woEr/awd & I F -
(1) RaRatm (2) "RERRE
(3) dReiRE (4) oni=daRfm
Which one of the following is a disease of young calf
(1)  Thiloreosis (2)  Mastitis
(3) Acidosis (4)  Osteoporosis
g4. IVLP = qu 7m % -
() EgyE O dneEw  SeEe
(2) stENa I REE uEw _
() Ergww B Rediee soavie @
4 e e Res gmw
The full form of IVLP is
(I) Institution village livestock project
(2)  International value linked price
(3) Institutional village livelihood development pian
(4) Institution village linkage program

02/ RAAO2_A] 11
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g5. Prer ¥ @ P I dRm R -
Which one of following is a training institute
(1) ATMA (2) KVK (3) DRDA @D
86. N WH 9 TT T T BWN ¥ -
' (1) & & FRT 2y SEEpT F HT
(3) FpEE F @R @) ueifE & FRE
Foot and Mouth discase is a caused by
(1} Fungal (2) Bacicrial
(3) Viral (4) Parasitic
87. N WH I FEARN § -
(1) =AIERY (2) AERERY (3) TeRRH )
The inflammation of udder 1s known as '
(1} Matritis (2) Mastitis (3) Ootitis {4)
88. W@ WA A B SR B, T - |
1) 1§24 (2) 4 ® 5 ant #
3y 2% 3 3w ¥ (4 5 % § oy omg A
Heifer becomes breedable at approximate age of
(1) 1 2vear ' (2) 4 3year
(3) 2 3wvear (4)  Above > vear
§9. omiR R & ¥ wow ¥ @ @ Reny # o ¥ -
1y ¥ ) I (3) AR (4)
Recommended breed of buffalo for Ajmer district is
(1) Murah (2) . Saurti (3) Jafrabati (4)
9. Frfe § & gum wpl @ W & -
(1) =& (2) (3) w@Em @)
Which one of following is a milky breed of cattle
(1) Haryana (2) Nagori (3) Saliwal (4)
91. e W T TR IIGH 3 -
(1) oy & ¥ (2) SEeET &% g
(3) @R B TG (4) wER &9 g
Gir breed of cattle is appropriate for
(1) Ajmer arca (2)  Jaisalmer area
(3) Bikaner area (4} Jalore area
s2. o T @ PR ey @ 3 IO a9 8 ¥ -
(1) 1000 ¥ 2000 X (2) 2000 ® 2500 @X
(3) 2500 ¥ 4500 WY (4) 5000 ¥ 8000 ®IT
Milk production potential of good breed of ‘Gir' cattle is
(1) 1000 2000 litre (2) 2000 2500 litre
(3) 2500 4500 litre (4) 5000 8000 litre
93. TH % TR R oM B av ¢BW TAWM ¥ SugE w dWr ¥ -
(1) & § 10 &€ F WY (2) 12 ¥ 18 @ F WER |
(3) 24 § 30 9 F WIRQ (4) 30 ¥ 36 UF B WEOHR
Rest time for doing A-l, after the start of heat in cow is
(1) After8 10 hrs. (2) After 12 18 hrs.
(3) After 24 30 hrs. " {4)  After 30 36 hrs.'
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Prffes & & W @ W 4w ¥ s Rem o B -

94,
(1) i - (2) RN sEeliadRs
(3) TEERH (4) amlq
Which one of following gas is used for storage of semen
(1)  Oxygen (2) Carbon dioxide
(3) Nitrogen (4) Argan
95. M= F @ F9 w U1 ¥ IR umphe S R o od=Re g ¥ -
(1) gieifaw (2) wERREE
(3) T kmmfaa (4) TEeRfw .
Which one of following disease can be transmitted through bulls in natural breeding
(1) Brucillosis {2) Parakeratosis
(3) Silicosis (4) Mastitis
96. @Eew e R oR - .
(1) =R = &8 amer & oftwr (2) 8T BEAT B IR
(3) = | uRwm 4y ol FoaRwe
‘Sitage making' is a method of
(1)  Preservation of fodder in grcen stage
(2)  Preservation of pulse crops
(3)  Preservation of oil cakes
(4)  Preservation of cereals
97. % 3w uww iy ¥ -
(1) =m@Ea F e @ (2) T F o W@
(3) =t & uftEm & (4) Tr F ok @
‘Hev making' is a method of
(1) Preservation of rice (2)  Preservation of wheat
(3)  Preservation of fodder (4)  Prescrvation of pulses
98. URH I BT T -
(1) FeFm & = 8 (2) @e & R F
(3) 9 B e @ @) % W @ @ @
'Pica’ disease is caused by deficiency of
(1) Vitamin (2) Minerals
(3) Protein (4) Crude fibre
59. omiEamifd T FowRET § -
' (1) Hfesmm (2) wEHRE (3) ffmm (4)  wew
Osteoporosis disease is associated with
(1) Ca 2y P 3) Mg (4) Sulphur
100. mE fRA” Jm-w o B O-
(1y wFeRmEE @ (2) w # B
(3) faEw & e (4) @z Wi # slEsw
'Grass Titeny' discase is caused by -
(1)  Deficiency of Mg (2)  Deficiency of Sulphur
(3} Excessof Ca (4) Excess of crude fibre
101. T # TA UPEH B @ IoH e § - :
(1) == & (2) e @ 3) &= w  (4) G Ww
For feeding of livestock groundnut cake is a good source of '
(1) Minerals (2) Vitamins (3) Proteins (4) Fat
02/ RAAO2 A} 13 [Contd...



for more materials visit www.educationobserver.com/forum

102, g@ AR H PIERN YA o FHRD @ -

(1) gure T8 & 3T & . (2) o % 9TER R
(3) ORRmE wHER & ITER & (4) <. & I T
Quality of dry fodder can be improved by treatment of
(1) Common salt (2) Urea
(3) Potassium permagnate - (4) DAP
103 Tl TRl ¥ oMM W W RS e ¥ -
(1) ol (2) UseTniEd (3) g 4) =
First compartment of stomach of rumivant is called
(1) Omesum (2) Abomesum (3) Reticulum (4) Rumen

104. FEt B dghw omw ¥ WY -
(1) 239 @a g 1/39maE  (2) 1/3 A A g 2/3 W T
(3) 1/2 9T THST F 1/2 WA A (4) 1/4 WFT W@ T 3/4 AT deT
- In a balanced ration for buffalo
' (1)  2/3 part comes from roughage 1/3 from concentrate
(2)  1/3 part comes from roughage 2/3 from concentrate
(3)  1/2 part comes from roughage 1/2 from concentrate
{4)  1/4 part comes from roughage 3/4 from concentrate

105. oFAlT BN B -

() & ) & (3) 4) w9

Azollaisa

(1) Algae (2) Fem ' (3) Tree (4) Fruit
106. By § ¥ ew B AW @ T o @ em F RE 9RO -

(1) e (2) - (3) W RS (4) o
is a draught breed of caitle
(1) Sahiwal (2) Nagori (3) Red Sindhi (4) Jorsey

107. ¥ ¥ dmg TEEr @ A -

Average gestation period of buffalo is

(1) 407 days (2) 307 days _ (3) 270days (4) 330days
108, oF: WG IR W Y FER OB -

(1) oo (2) F-TEA (3) I 4) T

Endoerine glands secretes

(1} Enzymes (2) Co-enzyme (3) Hormones (4) Sweat

109. @R TR 3 -
Night blindness is associated with
(1) Vitamin C , (2) Vitamin A
(3) Vitamin K . (4) Vitamin B-Complex

110. . @A el mafam ¥ -
Scurvy is associated with

(1) Vitamin C (2) Vitamin B Complex
(3) Vitamin D (4) Vitamin E
111. a@—w%ﬁﬁmﬁﬁﬁ%%ﬁmﬁéﬁ%—
(1) G ERT (2) FiRes ST
(3) Tl 4) v 4G
Dehorning in calf can be done by use of :
(1) Sodium chloride (2) Caustic Soda
(3) Alum (4) Sodium bicarbonate
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112. UM 39 IERT Few 98 e R ¥ -

(1) o # (2) = °

(3) " # “@)

National dairy Development Board is situated in _ state

(1) Rajasthan (2) Gujarat

(3) Punjab (4)

113._%&@&@4@@%%%@.%%—

3y TwmE ¥ @)

(3) Hyderabad (4)

@3) e ()

(1 T3 (2) TR #
Head office of Indian Council of Agriculture (ICARY) is situated at-
(1)  Pune (2) Bangalore
114. =6 TR BRE oWyl B dm@ ¥ -
(1) @ (2) T
Black quarter is a disease of
(1) Camel {(2) Horse

115, W B W R dmd ¥ -

(3) Cattle C))

3 F& @
(3) Camel {4)
W AR A
I

House fly
Birds

(1) W (2) =i
Surra is a common diseasc of
{1) Pig (2) Poultry
116. FP N TR Fred geEer ¥ a0 9 ¥ -
(b 0 2)
@) @ : @)
Vermicompost is made by use of
(1)  Earthworms (2)
(3)  Termites | @

17, ogel § G F owme @ Tem B R v 8 wed % -

(1) HerE | @)

(3) % UN&SY (4) TV |
Ties infutation in animals may be controlled by use of

(1) Melathion (2) Lime

(3) Chalk powder (4} Common salt

118. 1 F B W W TR R T W TORT B § -

(1) oifE () m

Which country produces highest milk in the world

(1) VS of America (2) China

(3) M 4

(3) Denmérk )

119. ﬁmﬁﬁ%ﬂﬁﬁﬂaﬁﬁmﬁﬂaﬁaﬁ%~

Reproduction in animals is associated with deficiency of

(1Y  Vitamin E 2y Ca

120. Ry RRE oy B o ¥ -

(1) = @) @

Sirohi is a brecd of

() Goat (2) Horse
02/RAAO2 A] 15
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